21
A
B
&
8

VEERR

4

.

0

T EEAL Y GRS
J| RuzgEebaYETO
TIRRECEW,

[

Im
e !

‘\,,

A10325 | NA—F3L/SVF

SGPERDEEERIL/INF,

@ [A103233L/3 > KL WM D RV EIS,
QOEREMH - L LI,

@FEI—F A10325 N—KRILNVF BT (mm)
A2 | B B | BFOE | a AL b A#
- (A) @) BEENE t | C |Tgiex | D | P | F | (@
0014 15A e 21.7 23| 25 | M6X20 | 45 | 20 | 6 | 300
0029 20A % 272 | 23| 25 | M6x20 | 45 | 20 | 6 | 230
0033 25A 1 340 [ 23| 25 | M6x20 | 45 | 20 | 6 | 190
0048 32A 1% 427 | 23| 25 | M6x20 | 45 | 20 | 6 | 150
0052 40A 1% 486 | 23| 25 | M6x20 | 45 | 20 | 6 | 130
0067 50A 2 605 |23 | 25 | M6x20 [ 45 | 20 | 6 | 150
0071 65A 2% 76.3 26 | 25 | M6x20 | 45 | 20 | 6 150
0086 80A 3 89.1 26 | 25 | M6x20 | 45 | 20 | 6 130
0118 | 100A 4 1143 | 26 | 25 | M6x20 | 45 | 20 | 6 | 100
0122 | 125A 5 139.8 | 45| 32 | M10X30 | 60 | 27 | 8 40
0137 | 150A 6 165.2 | 45| 32 | M10x30 | 60 | 27 | 8 40

EERICLEREGT
AUBBELENETD
TIWEBOEE,

4t

eI

A11213 | EXHoEN—RIL/IVF

T BERCLIERRRY
I RualesaNETD
TIWABC AL

76

LRl

uz

SGPEHDRERIL/IN K,
@ [A10363 5 5 /N2 RIL WM PRV E G,
@ FRESR D - L LIS,
mBEI—F AN213 EXBHOE/N—FRIL/NVF BT ()
YA4X | & B | FUOR AL b A
a—F (A) () [EEEAR t | C |Tg e (D P F g
0012 15A Y5 217 23| 25 M6x20 | 45 | 20 | 6
0027 | 20A | % 272 | 23| 25| M6x20 | 45 | 20 | 6
0031 A | 340 |23 25| M6x20 | 45 | 20 | 6
0046 | 324 | 1% 427 |23 25| M6x20 | 45 | 20 | 6
0065 40A 1l 48.6 23| 25 M6x20 | 45 | 20 | 6
0070 | 508 | 2 60.5 |23 25| M6x20 | 45 | 20 | 6 |
0084 65A 2V 76.3 26| 25 M6x20 | 45 | 20 | 6
0099 80A 3 801 | 26| 25 | M6x20 | 45 | 20 | 6
0101 | 100 | 4 1143 |26 | 25 | M6x20 | 45 | 20 | 6 |
=] - +*
A10326 | #TX /SR
SGPERMRITHIL/IN K,
OET BN > L LI,
mBEI—F A10326 #RATXIL/NF B3 (nm)
YL | B B | HUR #FREIL b A
a—F (A) (B) BEENE t | C gZxgx (PP | F | @
0011 158 | ' 217 |20 25 | M6x20 | 45 | 20 | 6 | 300
0026 20A % 27.2 20| 25 | M6x20 | 45 | 20 | 6 230
0045 | 25A | 1 340 |20 25| M6x20 | 45 | 20 | 6 | 190
0050 | 32A | 1% 427 |20 25 | M6x20 | 45 | 20 | 6 | 150
0064 | 40A | 1% 486 | 20| 25 | M6x20 | 45 | 20 | 6 | 130
0079 50A 2 60.5 20| 25 | M6x20 | 45 | 20 | 6 130
0083 | 65A | 2% 763 |20 25 | M6x20 | 45 | 20 | 6 | 100
0098 | 80A | 3 89.1 |20 25| M6x20 | 45 | 20 | 6 | 70
0115 | 100A | 4 1143 | 20| 25 | M6x20 | 45 | 20 | 6 | 50
0120 125A 5 139.8 32| 32 | MI0OX30 | 60 | 27 | 8
0134 | 150a | 6 1652 | 3.2 | 32 | M10x30 | 60 | 27 | 8




